Common Mistakes of Problem Set 8

This is a WRONG answer:
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PBrj inverts the stereochemistry!

This is ANOTHER WRONG answer to the same question:
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HBr, will create a carbocation
which will lead to
rearrangements as well as

a mixture of the trans and

cis products

This is the CORRECT answer:
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Yes, this reagent works
for this synthesis problem

This is a WRONG answer:
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however, this is not the
product you get!
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PBr3 will invert

both stereocenters

This is ANOTHER WRONG answer:
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These are the CORRECT answers:
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